International Economics

2 hours 30 minutes

Note: do not exceed 15 lines in each of your answers to the following questions.

1. In the context of the classical model, suppose there are two economies, A and B, which produce goods X and Y according to the following technical conditions:

Country A



Country B




QAx =8.LAx      


 QBx =12.LBx
QAy=9.LAy 



QBy=10.LBy
Q – units of output

L – hours of labour

a) (1.5) What is the difference between absolute advantage and comparative advantage? Indicate the general condition that defines absolute advantage, and two alternative conditions that define comparative advantage.
b) (1.5) For each country, indicate whether it has an absolute advantage and/or a comparative in any/some of the goods. Explain.
2. (2.0) Consider the following unit cost matrix:

	
	Shoes
	Wine

	France
	12h
	2h

	US
	36h
	2h


If the French and the US hourly wages are 4€ and $3.5, respectively, and $1 = 0.5€, indicate the wage limits in the two countries (in their own currencies).
3. (1.5) “Classical economists argued that trade between rich and poor nations would have a negative effect on the welfare of poor nations”. Do you agree? Explain.

4. (3.0) a) Consider the case of a labour abundant country. In the context of the Hecksher-Ohlin, will the interest of workers coincide with the interest of capital owners in the case of a prospective liberalization of trade with foreign nations?  Explain.
b) The same question, but in the context of the specific-factors model.
5. The US has a quota over sugar imports. As a result, the domestic price of sugar in the US is three times higher than the international price.

(1.0) a) Explain the mechanism through which a quota over sugar imports raises its price in the domestic market relative to the international price.

(1.0) b) Assuming that the quantity of sugar imports is the same, which instrument would you recommend? Explain.

6. (2.5) The major importers of oil (the US, EU, China, etc) would benefit if they raised the tariffs over their oil imports simultaneously. Why? Illustrate your answer with a graphical analysis.

7. (2.0) Countries A and B have created a Customs Union. Country A only produces manufactured goods, and imports all its raw materials and agricultural products from country B. Country B does exactly the opposite: it only produces raw materials and agricultural products, and imports all manufactured goods from country A.


What will be the impact of this Customs Union on the welfare of the two countries? Explain.

8. (1.5) Explain the conditions which increase the likelihood that a Monetary Union will have a positive net effect on the welfare of its member countries.

9. (2.5) In the context of the EU enlargement in 2004, the restrictions on labour mobility between Poland and the UK have been abolished.  What have been the implications of this liberalization for the two countries? Explain, illustrating your answer with a graphical analysis.
